ADVANCED ENGINEERING DYNAMICS CHAPTER-1
By: Ali Meghdari Sharif University of Technology

Homework Assignment: # 1

1. By direct expansion show that:

a)  rurx=6

b)  yud;d, =0

2. Use the indicial notations method to prove the followings:
a)

Ax(BxC)=(A-C)B-(A-B)C , {Hint: ¥y ¥ipg =(0p6q —640)  }
b)

A-(BxC)=B-(CxA)=C-(AxB)

c)

(AxB)-(CxD)=(A-C)(B-D)-(A-D)(B-C)

d)

Vx(axb)=(b-V)a-b(V-a)+a(V-b)-(a-V)b

e)

Vx(Vxa)=V(V-a)-V’a

f)

VxVg=0

3. Find the Divergence and the Curl of:

E = (X12 + X2X3)§1 + (X; + X1X3)§2 + (X32 + X1X2)§3



